Form 604

Corporations Act 2001 Section 671B

Notice of change of interests of substantial holder

BOSS ENERGY LTD

ACN/ARSN/ABN 38 116 834 336

1. Details of substantial holder (1)

Name JPMorgan Chase & Co. and its affiliates

ACN/ARSN (if applicable) NA

There was a change in the interests of the

substantial holder on

04/December/2024

The previous notice was given to the company on

28/November/2024

The previous notice was dated

26/November/2024

2. Previous and present voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

Class of securities (4)	Previous notice		Present notice	
	Person's votes	Voting power (5)	Person's votes	Voting power (5)
Ordinary	21,322,449	5.20%	25,968,012	6.34%

3. Changes in relevant interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

	Person whose relevant interest changed		•	Class and number of securities affected	Person's votes affected
See Appendix	JPMORGAN CHASE BANK, N.A.	Securities on Loan as Agent Lender	See Appendix	4,298,565 (Ordinary)	4,298,565 (Ordinary)
See Appendix		Purchase and sales of securities in its capacity as Principal/Proprietary	See Appendix	346,998 (Ordinary)	346,998 (Ordinary)

4. Present relevant interests

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of relevant interest	Registered holder of securities	Person entitled to be registered as holder (8)	Nature of relevant interest (6)	Class and number of securities	Person's votes
JPMORGAN CHASE BANK, N.A.	JPM Nominees Australia Pty Limited	Various Borrowers under the Securities Lending	Securities on Loan as Agent Lender	10,697,763 (Ordinary)	10,697,763 (Ordinary)
J.P. MORGAN SECURITIES PLC	JPM Nominees Australia Pty Limited	JPM Nominees Australia Pty Limited	Holder of securities subject to an obligation to return under a securities lending agreement	8,956,806 (Ordinary)	8,956,806 (Ordinary)
J.P. MORGAN SECURITIES PLC	JPM Nominees Australia Pty Limited	J.P. MORGAN SECURITIES PLC	Purchase and sales of securities in its capacity as Principal/Proprietary	136,391 (Ordinary)	136,391 (Ordinary)

J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Ecapital Nominees Pty Ltd	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Purchase and sales of securities in its capacity as Principal/Proprietary	3,970,784 (Ordinary)	3,970,784 (Ordinary)
J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Ecapital Nominees Pty Ltd	Ecapital Nominees Pty Ltd	Holder of securities subject to an obligation to return under a securities lending agreement	2,206,268 (Ordinary)	2,206,268 (Ordinary)

5. Changes in association

The persons who have become associates (2) of, ceased to be associates of, or have changed the nature of their association (9) with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name and ACN/ARSN (if applicable)	Nature of association
J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Subsidiary of JPMorgan Chase & Co.
JPMORGAN CHASE BANK, N.A.	Subsidiary of JPMorgan Chase & Co.

6. Addresses

The addresses of persons named in this form are as follows:

Name	Address
JPMorgan Chase & Co.	383 Madison Avenue, New York, New York, NY, 10179, United States
J.P. MORGAN SECURITIES AUSTRALIA LIMITED	LEVEL 18, 83-85 CASTLEREAGH STREET, SYDNEY, NSW 2000, Australia
J.P. MORGAN SECURITIES PLC	25 Bank Street, Canary Wharf, London, E14 5JP, England
JPMORGAN CHASE BANK, N.A.	1111 Polaris Parkway, Columbus, Delaware, OH, 43240, United States

Signature

print name	Vasim Pathan	Capacity	Compliance Officer
sign here	Vasim pathan	Date	06/December/2024

DIRECTIONS

- (1) If there are a number of substantial holders with similar or related relevant interests (eg. a corporation and its related corporations, or the manager and trustee of an equity trust), the names could be included in an annexure to the form. If the relevant interests of a group of persons are essentially similar, they may be referred to throughout the form as a specifically named group if the membership of each group, with the names and addresses of members is clearly set out in paragraph 6 of the form.
- (2) See the definition of "associate" in section 9 of the Corporations Act 2001.
- (3) See the definition of "relevant interest" in sections 608 and 671B(7) of the Corporations Act 2001.
- (4) The voting shares of a company constitute one class unless divided into separate classes.
- (5) The person's votes divided by the total votes in the body corporate or scheme multiplied by 100.
- (6) Include details of:
 - (a) any relevant agreement or other circumstances because of which the change in relevant interest occurred. If subsection 671B(4) applies, a copy of any document setting out the terms of any relevant agreement, and a statement by the person giving full and accurate details of any contract, scheme or arrangement, must accompany this form, together with a written statement certifying this contract, scheme or arrangement; and
 - (b) any qualification of the power of a person to exercise, control the exercise of, or influence the exercise of, the voting powers or disposal of the securities to which the relevant interest relates (indicating clearly the particular securities to which the qualification applies).

See the definition of "relevant agreement" in section 9 of the Corporations Act 2001.

- (7) Details of the consideration must include any and all benefits, money and other, that any person from whom a relevant interest was acquired has, or may, become entitled to receive in relation to that acquisition. Details must be included even if the benefit is conditional on the happening or not of a contingency. Details must be included of any benefit paid on behalf of the substantial holder or its associate in relation to the acquisitions, even if they are not paid directly to the person from whom the relevant interest was acquired.
- (8) If the substantial holder is unable to determine the identity of the person (eg. if the relevant interest arises because of an option) write "unknown".
- (9) Give details, if appropriate, of the present association and any change in that association since the last substantial holding notice.

TRADES FOR RELEVANT PERIOD						Appendix
Transaction Date	Entity	Product Type	Type of Transaction	Quantity	Price (AUD)	Consideration
Balance at start of relevant period				21,322,449		
27-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(2,898)	2.84 \$	8,230.32
27-Nov-24 27-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	4,233 (3,685)	2.84 \$ 2.84 \$	12,020.17 10,465.40
27-Nov-24 27-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	10,605	2.83 \$	30,037.05
27-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	1,724	2.88 \$	4,965.12
27-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(24,764)	2.84 \$	70,214.98
27-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	16,120	2.83 \$	45,672.47
27-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(18,266)	2.83 \$	51,702.08
27-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(41,673)	2.84 \$	118,351.32
27-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(2,496)	2.84 \$	7,088.64
27-Nov-24 27-Nov-24	JPMORGAN CHASE BANK, N.A. JPMORGAN CHASE BANK, N.A.	Equity Equity	Borrow Return Borrow Return	(4,743)	- \$ - \$	
27-Nov-24 27-Nov-24	JPMORGAN CHASE BANK, N.A.	Equity	Borrow	5,691	- \$	
27-Nov-24	JPMORGAN CHASE BANK, N.A.	Equity	Borrow	4	- \$	-
28-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(107)	2.83 \$	302.28
28-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	107	2.83 \$	302.28
28-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	2,417	2.81 \$	6,793.80
28-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	27,569	2.76 \$	76,090.44
28-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	34,803	2.81 \$ 2.81 \$	97,732.53
28-Nov-24 28-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(29,098) 59,354	2.81 \$ 2.80 \$	81,619.89 166,483.76
28-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(7)	2.76 \$	19.32
28-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(34,316)	2.84 \$	97,457.44
28-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(3,296)	2.76 \$	9,096.96
28-Nov-24	JPMORGAN CHASE BANK, N.A.	Equity	Borrow	20,464	- \$	
28-Nov-24	JPMORGAN CHASE BANK, N.A.	Equity	Borrow Return	(20,464)	- \$	-
28-Nov-24	JPMORGAN CHASE BANK, N.A.	Equity	Borrow Return	(30,726)	- \$	-
28-Nov-24	JPMORGAN CHASE BANK, N.A.	Equity	Borrow	47,093	- \$	-
28-Nov-24	JPMORGAN CHASE BANK, N.A.	Equity	Borrow Poturn	3,180	- \$	-
28-Nov-24 28-Nov-24	JPMORGAN CHASE BANK, N.A. JPMORGAN CHASE BANK, N.A.	Equity Equity	Borrow Return Borrow	(50,273) 1,500,000	- \$ - \$	-
29-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(97,499)	2.76 \$	269,097.24
29-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	97,499	2.76 \$	269,097.24
29-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(421)	2.76 \$	1,161.96
29-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	421	2.76 \$	1,161.96
29-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(280)	2.71 \$	758.80
29-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	280	2.71 \$	758.80
29-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	22,964	2.73 \$	62,703.13
29-Nov-24 29-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(21,054) (527)	2.72 \$ 2.70 \$	57,202.24 1,422.90
29-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(10,340)	2.71 \$	28,021.40
29-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	645	2.73 \$	1,760.72
29-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	2,237	2.73 \$	6,114.81
29-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(3,102)	2.71 \$	8,406.42
29-Nov-24	JPMORGAN CHASE BANK, N.A.	Equity	Borrow	187,048	- \$	-
29-Nov-24	JPMORGAN CHASE BANK, N.A.	Equity	Borrow	254,952	- \$	-
29-Nov-24	JPMORGAN CHASE BANK, N.A.	Equity	Borrow Return	(5,691)	2.73 \$	41.070.04
02-Dec-24 02-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	15,041 (3,102)	2.75 \$	41,078.84 8,530.50
02-Dec-24 02-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	21,540	2.75 \$	59,243.62
02-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	20,394	2.72 \$	55,558.07
02-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	989	2.73 \$	2,699.54
02-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(4,056)	2.75 \$	11,154.00
02-Dec-24	JPMORGAN CHASE BANK, N.A.	Equity	Borrow	59,800	- \$	-
02-Dec-24	JPMORGAN CHASE BANK, N.A.	Equity	Borrow	19,127	- \$	-
03-Dec-24 03-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy	37 13,297	2.73 \$ 2.73 \$	101.01 36,342.59
03-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Buy	60	2.68 \$	160.80
03-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	42,469	2.71 \$	114,917.21
03-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	412	2.74 \$	1,128.88
03-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	1,323	2.69 \$	3,562.98
03-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	450	2.74 \$	1,233.00
03-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(1,034)	2.69 \$	2,781.46
03-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(29,294)	2.69 \$	78,800.86
03-Dec-24 03-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	2,399 (49,592)	2.68 \$ 2.69 \$	6,429.32 133,290.85
03-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(1,226)	2.69 \$	3,297.94
03-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	1,226	2.69 \$	3,297.94
03-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	632	2.69 \$	1,700.08
03-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(632)	2.69 \$	1,700.08
03-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	380	2.69 \$	1,022.20
03-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(380)	2.69 \$	1,022.20
03-Dec-24 03-Dec-24	JPMORGAN CHASE BANK, N.A. JPMORGAN CHASE BANK, N.A.	Equity Equity	Borrow Return Borrow	(838,312) 81,549	- \$ - \$	-
03-Dec-24 03-Dec-24	JPMORGAN CHASE BANK, N.A. JPMORGAN CHASE BANK, N.A.	Equity	Borrow	756,763	- \$	
03-Dec-24	JPMORGAN CHASE BANK, N.A.	Equity	Borrow Return	(187,048)	- \$	-
03-Dec-24	JPMORGAN CHASE BANK, N.A.	Equity	Borrow Return	(254,952)	- \$	-
03-Dec-24	JPMORGAN CHASE BANK, N.A.	Equity	Borrow	2,325,108	- \$	-
04-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	181	2.62 \$	474.22
04-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(15,509)	2.66 \$	41,253.94
04-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(3,243)	2.68 \$	8,681.30
04-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Sell	156,129	2.62 \$	408,650.64 1,770.33
04-Dec-24 04-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy	(677) 75,228	2.61 \$ 2.64 \$	198,382.40
04-Dec-24 04-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	80,814	2.63 \$	212,222.01
04-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	29,690	2.63 \$	78,132.50
04-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	5,903	2.62 \$	15,465.52
04-Dec-24	JPMORGAN CHASE BANK, N.A.	Equity	Borrow	430,000	- \$	-
						-
04-Dec-24 Balance at End of relevant period	JPMORGAN CHASE BANK, N.A.	Equity	Borrow Return	25,968,012	- \$	<u> </u>

Date:	06-Dec-2024
Company's name:	BOSS ENERGY LTD
ISIN:	AU000000BOE4
Date of change of relevant interests:	04-Dec-2024
Schedule	
Type of agreement	Overseas Securities Lending Agreement ("OSLA")
Parties to agreement	JPMorgan Chase Bank, N.A. (acting as agent) ("lender") and Barclays Capital Securities Limited ("Borrower")
Transfer date	Settlement date 05-Apr-2024 08-Apr-2024 23-Oct-2024 26-Nov-2024
Holder of voting rights	Borrower
Are there any restriction on voting rights	Yes
If yes, detail	The borrower undertakes to use its best endeavors to arrange for the voting rights to be exercised in accordance with the instructions of the lender, provided that the lender uses its best endeavors to notify the borrower of its instructions in writing no later than 7 business days prior to the date upon which such votes are exercisable or as otherwise agreed between the parties. This undertaking is set out in clause 4(B)(vi) of the standard form OSLA.
Scheduled return date (if any)	None
Does the borrower have the right to return early?	Yes
If yes, detail	Borrower has right to return all and any equivalent securities early at any time in accordance with the lender's instructions.
Does the lender have the right to recall early?	Yes
If yes, detail	Lender has right to recall all or any equivalent securities at any time by giving notice on any business day of not less than the standard settlement time for such equivalent securities on the exchange or in the clearing organisation through which the relevant borrowed securities were originally delivered (and where there is a difference between the settlement time for sales and purchases on the relevant exchange or clearing organisation, the standard settlement time shall be the shorter of the two times). The borrower must return the securities not later than the expiry of such notice in accordance with the lender's instructions.
Will the securities be returned on settlement?	Yes
If yes, detail any exceptions	No exceptions
Statement	If requested by the company to whom the prescribed form must be given, or if requested by ASIC, a copy of the agreement will be given to that company or ASIC.

	filed with ASX.
Date:	06-Dec-2024
Company's name:	Boss energy Ltd
ISIN:	AU00000BOE4
Date of change of	
relevant	04-Dec-2024
interests:	01 566 2021
Schedule	
Type of agreement	Global Master Securities Lending Agreement ("GMSLA")
Parties to	 JPMorgan Chase Bank, N.A. (acting as agent) ("lender") and Citigroup Global Markets Limited (Borrower)
agreement	printingan chase bank, N.A. (acang as agency (lender) and elagroup diobal ridikess Elimited (borrower)
Transfer date	Settlement Date 28-Oct-2024 29-Oct-2024 30-Oct-2024 19-Nov-2024 25-Nov-2024 26-Nov-2024 28-Nov-2024 03-Dec-2024 05-Dec-2024
Holder of voting rights	Borrower
Are there any restriction on voting rights	Yes
If yes, detail	The borrower undertakes to use its best endeavors to arrange for the voting rights to be exercised in accordance with the instructions of the lender, provided that the lender uses its best endeavors to notify the borrower of its instructions in writing no later than 7 business days prior to the date upon which such votes are exercisable or as otherwise agreed between the parties. This undertaking is set out in clause 6.6 of the
Scheduled return	standard form GMSLA. None
date (if any) Does the borrower have the right to return early?	Yes
If yes, detail	Borrower has right to return all and any equivalent securities early at any time in accordance with the lender's instructions.
Does the lender have the right to recall early?	Yes
If yes, detail	Lender has right to recall all or any equivalent securities at any time by giving notice on any business day of not less than the standard settlement time for such equivalent securities on the exchange or in the clearing organisation through which the relevant borrowed securities were originally delivered (and where there is a difference between the settlement time for sales and purchases on the relevant exchange or clearing organisation, the standard settlement time shall be the shorter of the two times). The borrower must return the securities not later than the expiry of such notice in accordance with the lender's instructions.
Will the securities be returned on settlement?	Yes
If ves. detail any	No exceptions
	If requested by the company to whom the prescribed form must be given, or if requested by ASIC, a copy of the agreement will be given to that company or ASIC.

	filed with ASX.
- 410.	06-Dec-2024
Company's name:	BOSS ENERGY LTD
ISIN:	AU000000BOE4
Date of change of	
relevant	04-Dec-2024
interests:	
Schedule	
Type of agreement	Australian Master Securities Lending Agreement ("AMSLA")
Parties to	JPMorgan Chase Bank, N.A. (acting as agent) ("lender") and Macquarie Bank Limited(Borrower)
agreement	principali Chase bank, N.A. (acung as agent) (lender) and macquarie bank cimiled(borrower)
Transfer date	Settlement Date 07-Feb-2024 15-Feb-2024 05-Nov-2024 15-Nov-2024 19-Nov-2024 25-Nov-2024 27-Nov-2024
rights	Borrower
Are there any restriction on voting rights	Yes
If yes, detail	The borrower undertakes to use its best endeavors to arrange for the voting rights to be exercised in accordance with the instructions of the lender, provided that the lender uses its best endeavors to notify the borrower of its instructions in writing no later than 7 business days prior to the date upon which such votes are exercisable or as otherwise agreed between the parties. This undertaking is set out in clause 4.3 of the standard form AMSLA.
Scheduled return date (if any)	None
Does the borrower have the right to return early?	Yes
ir yes, detaii	Borrower has right to return all and any equivalent securities early at any time in accordance with the lender's instructions.
Does the lender have the right to recall early?	Yes
If yes, detail	Lender has right to recall all or any equivalent securities at any time by giving notice on any business day of not less than the standard settlement time for such equivalent securities on the exchange or in the clearing organisation through which the relevant borrowed securities were originally delivered (and where there is a difference between the settlement time for sales and purchases on the relevant exchange or clearing organisation, the standard settlement time shall be the shorter of the two times). The borrower must return the securities not later than the expiry of such notice in accordance with the lender's instructions.
Will the securities be returned on settlement?	Yes
If ves. detail any	No exceptions
Statement	If requested by the company to whom the prescribed form must be given, or if requested by ASIC, a copy of the agreement will be given to that company or ASIC.

snarenoiding notice	The with ASA.
Date:	06-Dec-2024
Company's name:	BOSS ENERGY LTD
ISIN:	AU000000BOE4
Date of change	
_	04-Dec-2024
interests:	01 500 2021
Schedule	
	Global Master Securities Lending Agreement ("GMSLA")
Parties to	Dispair ruster securities Echaing Agreement (Grisbry)
agreement	JPMorgan Chase Bank, N.A. (acting as agent) ("lender") and Merrill Lynch International(Borrower)
Transfer date	Settlement Date 02-Jul-2024 30-Sep-2024 09-Oct-2024 21-Oct-2024 22-Oct-2024 28-Oct-2024 01-Nov-2024 04-Nov-2024 14-Nov-2024 15-Nov-2024 20-Nov-2024 27-Nov-2024 28-Nov-2024
Holder of voting	Borrower
rights	Bottower
Are there any	
	Yes
voting rights	
If yes, detail	The borrower undertakes to use its best endeavors to arrange for the voting rights to be exercised in accordance with the instructions of the lender, provided that the lender uses its best endeavors to notify the borrower of its instructions in writing no later than 7 business days prior to the date upon which such votes are exercisable or as otherwise agreed between the parties. This undertaking is set out in clause 6.6 of the standard form GMSLA.
Scheduled return	None
date (if any)	Notice
Does the borrower have the right to return early?	Yes
If yes, detail	Borrower has right to return all and any equivalent securities early at any time in accordance with the ender's instructions.
Does the lender have the right to recall early?	Yes
if yes, detail	Lender has right to recall all or any equivalent securities at any time by giving notice on any business day of not less than the standard settlement time for such equivalent securities on the exchange or in the clearing organisation through which the relevant borrowed securities were originally delivered (and where there is a difference between the settlement time for sales and purchases on the relevant exchange or clearing organisation, the standard settlement time shall be the shorter of the two times). The borrower must return the securities not later than the expiry of such notice in accordance with the lender's instructions.
Will the securities	
be returned on settlement?	Yes
If yes, detail any	
exceptions	No exceptions

Statement

If requested by the company to whom the prescribed form must be given, or if requested by ASIC, a copy of the agreement will be given to that company or ASIC.

shareholding notice	filed with ASX.
Date:	06-Dec-2024
Company's name:	BOSS ENERGY LTD
ISIN:	AU000000BOE4
Date of change of	
relevant	04-Dec-2024
interests:	
Schedule	
Type of agreement	Global Master Securities Lending Agreement ("GMSLA")
Parties to agreement	JPMorgan Chase Bank, N.A. (acting as agent) ("lender") and UBS AG London Branch (Borrower)
Transfer date	<u>Settlement Date</u> 14-Nov-2024
Holder of voting rights	Borrower
Are there any	
restriction on	Yes
voting rights	The however undertakes to use its best endeavers to awaying for the victing rights to be eversised in
If yes, detail	The borrower undertakes to use its best endeavors to arrange for the voting rights to be exercised in accordance with the instructions of the lender, provided that the lender uses its best endeavors to notify the borrower of its instructions in writing no later than 7 business days prior to the date upon which such votes are exercisable or as otherwise agreed between the parties. This undertaking is set out in clause 6.6 of the standard form GMSLA.
Scheduled return date (if any)	None
Does the borrower have the right to return early?	Yes
If yes, detail	Borrower has right to return all and any equivalent securities early at any time in accordance with the lender's instructions.
Does the lender have the right to recall early?	Yes
If yes, detail	Lender has right to recall all or any equivalent securities at any time by giving notice on any business day of not less than the standard settlement time for such equivalent securities on the exchange or in the clearing organisation through which the relevant borrowed securities were originally delivered (and where there is a difference between the settlement time for sales and purchases on the relevant exchange or clearing organisation, the standard settlement time shall be the shorter of the two times). The borrower must return the securities not later than the expiry of such notice in accordance with the lender's instructions.
settlement?	Yes
exceptions	No exceptions
Statement	If requested by the company to whom the prescribed form must be given, or if requested by ASIC, a copy of the agreement will be given to that company or ASIC.

Company's name: BO: ISIN: AU(Date of change of relevant interests: Schedule	5-Dec-2024 DSS ENERGY LTD J000000BOE4 1-Dec-2024 Istralian Master Securities Lending Agreement ("AMSLA")
ISIN: AUC Date of change of relevant interests: Schedule Type of agreement Aus	J000000BOE4 1-Dec-2024
Date of change of relevant interests: Schedule Type of agreement Aus	1-Dec-2024
relevant interests: Schedule Type of agreement Aus	
Schedule Type of agreement Aus	
Type of agreement Aus	ıstralian Master Securities Lending Agreement ("AMSLA")
	stralian Master Securities Lending Agreement ("AMSLA")
Darties to	
raities to	Mayran Chara Bank N.A. (acting as agent) (Vlandov') and LIBC Convities Australia Ltd (Payrousy)
agreement	Morgan Chase Bank, N.A. (acting as agent) ("lender") and UBS Securities Australia Ltd (Borrower)
Se	ettlement Date
02-	2-Sep-2024
11-	-Sep-2024
16-	5-Sep-2024
	?-Sep-2024
Transfer date)-Sep-2024
01-	-Oct-2024
_ ·	3-Oct-2024
	7-Nov-2024
	2-Dec-2024
	3-Dec-2024
	I-Dec-2024
Holder of voting	prrower
rights	
Are there any	
restriction on Yes	25
voting rights	
If yes, detail bor exe	ne borrower undertakes to use its best endeavors to arrange for the voting rights to be exercised in accordance with the instructions of the lender, provided that the lender uses its best endeavors to notify the lender uses its best ende
Scheduled return	andara romini isas t
date (if any)	one
Does the borrower	
have the right to Yes	es es
return early?	
If ves. detail	orrower has right to return all and any equivalent securities early at any time in accordance with the lender's structions.
Does the lender	
have the right to Yes	es es
recall early?	
If yes, detail org diff org	ender has right to recall all or any equivalent securities at any time by giving notice on any business day of out less than the standard settlement time for such equivalent securities on the exchange or in the clearing ganisation through which the relevant borrowed securities were originally delivered (and where there is a fference between the settlement time for sales and purchases on the relevant exchange or clearing ganisation, the standard settlement time shall be the shorter of the two times). The borrower must return e securities not later than the expiry of such notice in accordance with the lender's instructions.
Will the securities	
be returned on Yes settlement?	es es
exceptions	o exceptions
	requested by the company to whom the prescribed form must be given, or if requested by ASIC, a copy of e agreement will be given to that company or ASIC.

shareholding notice med v	
Date:	06-Dec-2024
Company's name:	BOSS ENERGY LTD
ISIN:	AU000000BOE4
Date of change of relevant interests:	04-Dec-2024
Schedule	
Type of agreement	Australian Master Securities Lending Agreement ("AMSLA")
Parties to agreement	Citibank N.A. as agent ("lender"), J.P. Morgan Securities Australia Limited ("borrower")
Transfer date	Settlement Date 27-Sep-2024
Holder of voting rights	Borrower
Are there any restriction on voting rights	Yes
If yes, detail	The borrower undertakes to use its best endeavours to arrange for the voting rights to be exercised in accordance with the instructions of the lender, provided that the lender uses its best endeavours to notify the borrower of its instructions in writing no later than 7 business days prior to the date upon which such votes are exercisable or as otherwise agreed between the parties. This undertaking is set out in clause 4.3 of the standard form AMSLA
Scheduled return date (if any)	None
1	
Does the borrower have the right to return early?	Yes
	Yes Borrower has right to return all and any securities or equivalent securities early at any time in accordance with the lender's instructions.
the right to return early?	Borrower has right to return all and any securities or equivalent securities early at any time in
the right to return early? If yes, detail Does the lender have the	Borrower has right to return all and any securities or equivalent securities early at any time in accordance with the lender's instructions.
the right to return early? If yes, detail Does the lender have the right to recall early?	Borrower has right to return all and any securities or equivalent securities early at any time in accordance with the lender's instructions. Yes Lender has right to recall all or any equivalent securities on any business day by giving such notice as agreed by the parties. The borrower must return the securities not later than the expiry of such notice
the right to return early? If yes, detail Does the lender have the right to recall early? If yes, detail Will the securities be	Borrower has right to return all and any securities or equivalent securities early at any time in accordance with the lender's instructions. Yes Lender has right to recall all or any equivalent securities on any business day by giving such notice as agreed by the parties. The borrower must return the securities not later than the expiry of such notice in accordance with the lender's instructions.

<u></u>	ned with ASA.
Date:	06-Dec-2024
Company's name:	BOSS ENERGY LTD
ISIN:	AU000000BOE4
Date of change of relevant interests:	04-Dec-2024
Schedule	
Type of agreement	Australian Master Securities Lending Agreement ("AMSLA")
Parties to agreement	JPMorgan Chase Bank, N.A. (acting as agent) ("lender"), J.P. Morgan Securities Australia Limited ('borrower')
Transfer date	Settlement Date 08-Nov-2024
Holder of voting rights	Borrower
Are there any restriction on voting rights	Yes
If yes, detail	The borrower undertakes to use its best endeavours to arrange for the voting rights to be exercised in accordance with the instructions of the lender, provided that the lender uses its best endeavours to notify the borrower of its instructions in writing no later than 7 business days prior to the date upon which such votes are exercisable or as otherwise agreed between the parties. This undertaking is set out in clause 4.3 of the standard form AMSLA.
Scheduled return date (if any)	None
Does the borrower have the right to return early?	Yes
If yes, detail	Borrower has right to return all and any securities or equivalent securities early at any time in accordance with the lender's instructions.
Does the lender have the right to recall early?	Yes
If yes, detail	Lender has right to recall all or any equivalent securities on any business day by giving such notice as agreed by the parties. The borrower must return the securities not later than the expiry of such notice in accordance with the lender's instructions.
Will the securities be returned on settlement?	Yes
If yes, detail any exceptions	No exception
Statement	If requested by the company to whom the prescribed form must be given, or if requested by ASIC, a copy of the agreement will be given to that company or ASIC.

B-1	00 Dec 2024
Date:	06-Dec-2024
Company's name:	BOSS ENERGY LTD
ISIN:	AU000000BOE4
Date of change of relevant interests:	04-Dec-2024
Schedule	
Type of agreement	Global Master Securities Lending Agreement ("GMSLA")
Parties to	Blackrock Advisors (UK) Limited ("lender") and J.P. Morgan Securities plc
agreement	("borrower")
Transfer date	Settlement Date 19-Apr-2024
Holder of voting rights	Borrower
Are there any restriction on voting rights	Yes
If yes, detail	The borrower shall have no obligation to arrange for voting rights to be exercised in accordance with the instructions of the other party, unless otherwise agreed between the parties.
Scheduled return date (if any)	None
Does the borrower have the right to return early?	Yes
If yes, detail	Borrower has the right to terminate a loan and redeliver all and any equivalent securities due and outstanding to the lender in accordance with lender's instructions and lender shall accept such redelivery.
Does the lender have the right to recall early?	Yes.
If yes, detail	Lender has right to recall all or any equivalent securities at any time by giving notice on any business day of not less than the standard settlement time for such equivalent securities on the exchange or in the clearing organisation through which the relevant borrowed securities were originally delivered. The borrower must return the

	securities not later than the expiry of such notice in accordance with the lender's instructions.
Will the securities be returned on settlement?	Yes
If yes, detail any exceptions	No exceptions
Statement	If requested by the company to whom the prescribed form must be given, or if requested by ASIC, a copy of the agreement will be given to that company or ASIC.

Date:	06-Dec-2024
Company's name:	BOSS ENERGY LTD
ISIN:	AU000000BOE4
Date of change of	04-Dec-2024
relevant interests:	
Schedule	
Type of agreement	Exclusive Securities Lending Agreement dated November 17, 2020 to the Global Master Securities Lending Agreement
Parties to agreement	SFT ("lending agent") - CALIFORNIA STATE TEACHERS' RETIREMENT SYSTEM ("lender") and J.P. Morgan
	Securities Plc ("borrower")
Transfer date	Settlement date 19-Mar-2024 21-Mar-2024 28-Mar-2024 11-Apr-2024 18-Apr-2024 19-Apr-2024 23-Apr-2024 09-Jul-2024 02-Oct-2024
Holder of voting	
rights	Borrower
Are there any restriction on voting rights	Yes
If yes, detail	The borrower shall have no obligation to arrange for voting rights to be exercised in accordance with the instructions of the other party, unless otherwise agreed between the parties.
Scheduled return date (if any)	None
Does the borrower have the right to return early?	Yes
If yes, detail	Borrower has the right to terminate a loan and redeliver all and any equivalent securities due and outstanding to the lender in accordance with lender's instructions and lender shall accept such redelivery.
Does the lender have the right to recall early?	Yes
If yes, detail	Lender has right to recall all or any equivalent securities at any time by giving notice on any business day of not less than the standard settlement time for such equivalent securities on the exchange or in the clearing organisation through which the relevant borrowed securities were originally delivered. The borrower must return the securities not later than the expiry of such notice in accordance with the lender's instructions.
Will the securities be returned on settlement?	Yes
If yes, detail any exceptions	No exceptions
Statement	If requested by the company to whom the prescribed form must be given, or if requested by ASIC, a copy of the agreement will be given to that company or ASIC.

Date:	06-Dec-2024
Company's name:	BOSS ENERGY LTD
ISIN:	AU00000BOE4
Date of change of	
relevant interests:	04-Dec-2024
Schedule	
Type of agreement	Overseas Securities Lender's Agreement ("OSLA")
Parties to agreement	J.P. Morgan Securities Plc ("borrower") and Citibank N.A. acting as Agent ("lender")
i di ties to agreement	bit i horgan securices he (bottomer) and elabatik hit according as rigeric (lender)
	Settlement Date
	19-Apr-2024
	09-Aug-2024
	23-Aug-2024
	27-Aug-2024
	03-Sep-2024
	04-Sep-2024
	06-Sep-2024
Transfer date	09-Sep-2024
	10-Sep-2024
	19-Sep-2024
	02-Oct-2024
	03-Oct-2024
	09-Oct-2024
	14-Oct-2024
	15-Oct-2024
	22-Oct-2024
	14-Nov-2024
Holder of voting rights	Borrower
Are there any	
restriction on voting	Yes
	TES .
rights	
	The borrower undertakes to use its best endeavours to arrange for the voting rights to be
	exercised in accordance with the instructions of the lender, provided that the lender uses
	its best endeavours to notify the borrower of its instructions in writing no later than 7
If yes, detail	business days prior to the date upon which such votes are exercisable or as otherwise
	agreed between the parties. This undertaking is set out in clause 4(B)(vi) of the standard
	form OSLA.
Scheduled return date	
(if any)	None
(ii aliy)	
Does the borrower	
have the right to	Yes
return early?	
Carry:	
	<u> </u>

If yes, detail	Borrower has right to return all and any equivalent securities early at any time in accordance with the lender's instructions.
Does the lender have the right to recall early?	Yes
If yes, detail	Lender has right to recall all or any equivalent securities at any time by giving notice on any business day of not less than the standard settlement time for such equivalent securities on the exchange or in the clearing organisation through which the relevant borrowed securities were originally delivered. The borrower must return the securities not later than the expiry of such notice in accordance with the lender's instructions.
Will the securities be returned on settlement?	Yes
If yes, detail any exceptions	No exceptions
Statement	If requested by the company to whom the prescribed form must be given, or if requested by ASIC, a copy of the agreement will be given to that company or ASIC.

snarenoiding notice i	
Date:	06-Dec-2024
Company's name:	BOSS ENERGY LTD
ISIN:	AU000000BOE4
Date of change of relevant interests:	04-Dec-2024
Schedule	
Type of agreement	Overseas Securities Lender's Agreement ("OSLA")
Parties to	JPMorgan Chase Bank, N.A. (acting as agent) ("lender") J.P. Morgan Securities plc
agreement	("borrower")
Transfer date	Settlement Date 25-Oct-2024 06-Nov-2024 11-Nov-2024 12-Nov-2024 13-Nov-2024 14-Nov-2024 18-Nov-2024
Holder of voting rights	Borrower
Are there any	
restriction on	Yes
voting rights	
If yes, detail	The borrower undertakes to use its best endeavors to arrange for the voting rights to be exercised in accordance with the instructions of the lender, provided that the lender uses its best endeavors to notify the borrower of its instructions in writing no later than 7 business days prior to the date upon which such votes are exercisable or as otherwise agreed between the parties. This undertaking is set out in clause 4(B)(vi) of the standard form OSLA.
Scheduled return date (if any)	None
Does the borrower have the right to return early?	Yes
If yes, detail	Borrower has right to return all and any equivalent securities early at any time in accordance with the lender's instructions.

Does the lender have the right to recall early?	Yes
If yes, detail	Lender has right to recall all or any equivalent securities at any time by giving notice on any business day of not less than the standard settlement time for such equivalent securities on the exchange or in the clearing organisation through which the relevant borrowed securities were originally delivered (and where there is a difference between the settlement time for sales and purchases on the relevant exchange or clearing organisation, the standard settlement time shall be the shorter of the two times). The borrower must return the securities not later than the expiry of such notice in accordance with the lender's instructions.
Will the securities be returned on settlement?	Yes
If yes, detail any exceptions	No exceptions
Statement	If requested by the company to whom the prescribed form must be given, or if requested by ASIC, a copy of the agreement will be given to that company or ASIC.

Date:	06-Dec-2024
Company's name:	BOSS ENERGY LTD
ISIN:	AU00000BOE4
Date of change of relevant interests:	04-Dec-2024
Schedule	
Type of agreement	Master Overseas Securities Borrowing Agreement
Parties to agreement	J.P. Morgan Securities Plc ("borrower") and The Northern Trust Company as agent ("lender")
Transfer date	Settlement Date 25-Jun-2024
Holder of voting rights	Borrower
Are there any restriction on voting rights	Yes
If yes, detail	The borrower undertakes to use its best endeavours to arrange for the voting rights to be exercised in accordance with the instructions of the lender, provided that the lender uses its best endeavours to notify the borrower of its instructions in writing no later than 7 business days prior to the date upon which such votes are exercisable or as otherwise agreed between the parties. This undertaking is in clause 4(B)(vi) of the agreement.
Scheduled return date (if any)	None
Does the borrower have the right to return early?	Yes
If yes, detail	Borrower has the right to terminate a loan and redeliver all and any equivalent securities due and outstanding to the lender in accordance with lender's instructions and lender shall accept such redelivery.
Does the lender have the right to recall early?	Yes
If yes, detail	Lender has right to recall all or any equivalent securities at any time by giving notice on any business day of not less than the standard settlement time for such equivalent securities on the exchange or in the clearing organisation through which the relevant borrowed securities were originally delivered. The borrower must return the securities not later than the expiry of such notice in accordance with the lender's instructions.
Will the securities be	
returned on settlement?	Yes
If yes, detail any exceptions	No exceptions
Statement	If requested by the company to whom the prescribed form must be given, or if requested by ASIC, a copy of the agreement will be given to that company or ASIC.

Date:	06-Dec-2024
Company's name:	BOSS ENERGY LTD
ISIN:	AU000000BOE4
Date of change of relevant interests:	04-Dec-2024
Schedule	
Type of agreement	Global Master Securities Lending Agreement ("GMSLA")
Parties to	J.P. Morgan Securities plc ("borrower") and State St Bank and Trust Company as
agreement	agent ("lender")
	Settlement Date
	06-Nov-2024
	08-Nov-2024
Transfer date	11-Nov-2024
	14-Nov-2024
	15-Nov-2024
	18-Nov-2024
	19-Nov-2024
Holder of voting rights	Borrower
Are there any	
restriction on voting	Yes
rights	163
If yes, detail	The borrower shall have no obligation to arrange for voting rights to be exercised in accordance with the instructions of the other party, unless otherwise agreed between the parties.
Scheduled return date (if any)	None
Does the borrower have the right to return early?	Yes
If yes, detail	Borrower has the right to terminate a loan and redeliver all and any equivalent securities due and outstanding to the lender in accordance with lender's instructions and lender shall accept such redelivery.

Does the lender have the right to recall early?	Yes
If yes, detail	Lender has right to recall all or any equivalent securities at any time by giving notice on any business day of not less than the standard settlement time for such equivalent securities on the exchange or in the clearing organisation through which the relevant borrowed securities were originally delivered. The borrower must return the securities not later than the expiry of such notice in accordance with the lender's instructions.
Will the securities be returned on settlement?	Yes
If yes, detail any exceptions	No exceptions
Statement	If requested by the company to whom the prescribed form must be given, or if requested by ASIC, a copy of the agreement will be given to that company or ASIC.

Date:	06-Dec-2024
Company's name:	BOSS ENERGY LTD
ISIN:	AU000000BOE4
Date of change of	04-Dec-2024
relevant interests:	0.1 500 202.1
Schedule	Overseas Securities Lender's Agreement ("OSLA")
Type of agreement	Overseas Securities Lender's Agreement (OSLA)
Parties to	The Bank of New York Mellon Corporation (formerly known as The Bank of New York) (acting
agreement	as agent) ("lender"), J.P. Morgan Securities Plc ("borrower")
	Settlement Date
Transfer date	27-Jun-2024
	28-Jun-2024
Holder of voting	14-Aug-2024
rights	Borrower
ligito	
Are there any	
restriction on voting	Yes
rights	
	The borrower undertakes to use its best endeavours to arrange for the voting rights to be
	exercised in accordance with the instructions of the lender, provided that the lender uses its
If yes, detail	best endeavours to notify the borrower of its instructions in writing no later than 7 business
	days prior to the date upon which such votes are exercisable or as otherwise agreed between
	the parties. This undertaking is set out in clause 4(B)(ii) of the standard form OSLA.
Scheduled return	None
date (if any)	None
Does the borrower	
have the right to	Yes
return early?	
	Borrower has right to return all and any equivalent securities early at any time in accordance
If yes, detail	with the lender's instructions.
Does the lender	
have the right to	Yes
recall early?	
If yes, detail	Lender has right to recall all or any equivalent securities at any time by giving notice on any
	business day of not less than the standard settlement time for such equivalent securities on
<u> </u>	

	the exchange. The borrower must return the securities not later than the expiry of such notice in accordance with the lender's instructions.
Will the securities be returned on settlement?	Yes
If yes, detail any exceptions	No exceptions
Statement	If requested by the company to whom the prescribed form must be given, or if requested by ASIC, a copy of the agreement will be given to that company or ASIC.

Date:	06-Dec-2024
Company's name:	BOSS ENERGY LTD
ISIN:	AU00000BOE4
Date of change of relevant interests:	04-Dec-2024
Schedule	
Type of agreement	Global Master Securities Lending Agreement ("GMSLA")
Parties to agreement	J.P. Morgan Securities plc ("borrower") and UBS Switzerland AG ("lender")
Transfer date	Settlement Date 18-Sep-2024 11-Oct-2024
Holder of voting rights	Borrower
Are there any restriction on voting rights	Yes
If yes, detail	The borrower shall have no obligation to arrange for voting rights to be exercised in accordance with the instructions of the other party, unless otherwise agreed between the parties.
Scheduled return date (if any)	None
Does the borrower have the right to return early?	Yes
If yes, detail	Borrower has the right to terminate a loan and redeliver all and any equivalent securities due and outstanding to the lender in accordance with lender's instructions and lender shall accept such redelivery.
Does the lender have the right to recall early?	Yes
If yes, detail	Lender has right to recall all or any equivalent securities at any time by giving notice on any business day of not less than the standard settlement time for such equivalent securities on the exchange or in the clearing organisation through which the relevant borrowed securities were originally delivered. The borrower must return the securities not later than the expiry of such notice in accordance with the lender's instructions.

Will the securities be returned on settlement?	Yes
If yes, detail any exceptions	No exceptions
Statement	If requested by the company to whom the prescribed form must be given, or if requested by ASIC, a copy of the agreement will be given to that company or ASIC.